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Step 1:Initialization

¢« egshM U pegss TlEH N TLYSHcommonld,
FhFnincludeT <L) —RU
pegscommonsT AL IK)—MD T 74 )L
% "include’ XX CTHIY AL

o EEMNLIRMEINI=DA AN —BHFRLED
A—H—a—FDH TEHRIN Hcommon
[X. auxcommonsT 4L IR )—D 774 IL%
includeX THY AL




ECHDRESDIETE

comMONTEAIN TS EHMDEFTI D KESIE.
parameter X TETE

— egS5TERAESN TLYScommonD ZE (.
Include/egss _h.f

- A—Y—a—FTOHERETNScommonD E .
auxcommns/aux_h.f

common& B L L&D (ZincludeXIZ&YEYAEN S,

BRADRESZEET HIGE (L. parameter XD E
HMELZHEITH




include 'include/egs5 h.f' I Main EGS "header" file

include 'include/egs5 bounds.f'
include 'include/egs5 brempr.f'
include 'include/egs5_edge.f'

include 'include/egs5_media.f
include 'include/egs5_misc.f'

include 'include/egs5_thresh.f'
include 'include/egs5_uphiot.f'

?nclude :?nclude/egsS_useful.f'l egs5 common [Z& £ B I 5% A
include 'include/egs5_usersc.f £ TOSSLEDTOY S LB
include 'include/egs5_userxt.f' R CE AT 2B A (. indudeX T

include 'include/randomm.f s =2 commonZ15



include 'auxcommons/aux_h.f" ! Auxiliary-code "header" file

Include 'auxcommons/edata.f'

include 'auxcommons/etaly1.f'

include 'auxcommons/instuf.f’ . . \
include 'auxcommons/lines.f' DA AN —ERFI—Y—O—F
include 'auxcommons/nfac.f' D+ THEATNSHcommon
Include 'auxcommons/watch.f'

include 'auxcommons/etaly2.f' ! Added SJW for energy balance

CGRi{& M commonT., CGE{FERITHGESICIXEICHNE(EETEL)

include 'auxcommons/geom_common.f' I geom-common file
integer irinn



In include/egss h.f

I Maximum number of regions allocated o
integer MXREG L ) =3 gLz E
parameter (MXREG = 10649) ZIF. COBEZEET S,

include/egs _misc.f

common/MISC/ I Miscellaneous COMMON
*rhor(MXREG), dunit,
*med(MXREG),iraylr(MXREG),Ipolar(MXREG),incohr(MXREG),
*iprofr(MXREG),impacr(MXREG),
*kmpi,kmpo,noscat

real*8
*rhor,dunit

integer
*med,iraylr,Ipolar,incohr,iprofr,impacr,kmpi,kmpo,noscat



common/totals/ I Variables to score D1—H—a—FEAD
* depe,deltae,spg(1,50),spe(1,50),spp(1,50),nreg common

real*8 depe,deltae,spg,spe,spp

integer nreg

real*8 | Local variables man program't*{?ﬁﬁ
* availke,avpe,avph,avspe,avspg,avspp,avte,ekin,etot, FTAORBREDRHK
* desci2,pef,rnnow,sigpe,sigph,sigspe,sigspg,sigspp,
* sigte,tef,totke,wtin,wtsum

real*8
* ph(30),phpb(50,50),spgpb(1,50,50),spepb(1,50,50),
*spppb(1,50,50),pefpb(50),tefpb(50)



real I Local variables
* elow,eup,rdet,rtcov,rtgap,tcov,tdet,tgap

main programCERT 58
real FREDEH
*tarray(2),tt,ttO,ttl,cputime
integer main program T 9 54K

*l,icases,idin,ie,imed,ireg,isam,isot,
*],k,n,nbatch,ncaspb,nd,ndet,nlist,nofbat



OpenXX

o A—H—O—kH\5, pegseERITT HDIC
FLy, 2=k 7-261%. pegsT close T3
ZEMD AT 77L\’C open LTLNVT
:E)\ pegsiﬁ:ﬁﬁk~ : 923 Open _d_éu&b\z‘
B35, TDI=8H, A=V 7-26DERA%E
Wt THAMNERLY,

o REMEHRZE H N9 Bplotxyz.fD1=vhkI,
OMBHIZEE




Step 2:pegss-call

 MBT—ARUVEME Dcharacteristic distance
ERTEL-& T, pegsSEcald 5,

nmed=3 \
medarr(1)="NAl ! pegS5’C‘1’FJﬂZ?'%>5F%’f§7_'—90)
medarr(2)="AL '+ Al pegsSD A NT —H (2
medarr(3)="QUARTZ v ZYR2ADNGERA AR ) EXT I
do j=1,nmed

do i=1,24

media(i,j)=medarr(j)(i:i) £ W8 0 characterigtic distance

end do LRMED) -3 TH, &
end do LINSNY A XEHTE
chard(1) = 3.81d0 | optional, but recommended to invoke
chard(2) = 0.1d0 | automatic step-size control

chard(3) = 0.5d0



Step 3:Pre-hatch-call-initialization
npreci=2 ! Pict data mode for CGView

itbody=0
irppin=0
iIsphin=0
irccin=0 CGREDNEZEITIER

itorin=0 - Ry
trein=0 CCZERT HImE L. BELILY,

izonin=0

itverr=0

igmmax=0

ifti=4 !lInput unit number for cg-data
ifto =39 ! Output unit number for PICT

write(39,100)

100 FORMAT('CSTA")
call geomgt(ifti,ifto)
write(39,110)

110 FORMAT('CEND")

nreg=izonin



RCC 1

RCC

RCC

RCC

RCC

END
Z1
Z2
Z3
Z4
Z5
END

0.00

8.72

2

0.00

8.12

3

0.00

7.62

4
0.5
5
10.0

+1
+2
+3
+4
+5

0.00

0.00

2 01 3 O

0.0
4.41
0.0
4.31
0.0
3.81
0.0
4.31
0.0
5.00

0.0 0.00
0.1 0.00
0.6 0.00
8.22 0.00
-1.0 0.00

TILEZ) L

ZER

Nal

BHSR

TR T DOEE

0.0 Alps—IzREEh24EE (FE)
*E&ETH-HDbody

0.0 wmpizmashzaEsm@E)
#EHT H=6HDbody

0.0 NaosEs(mE) %
EFET B Dbody

0.0 oxr=oBASREESE (FAE)
=EHRTH=HDbody

0.0 pmek£ESbody



I Set medium index for each region
' Vacuum region

med(nreg)=0 Z—Sav~OYE. FBA T OBRE
med(2)=0 !Inside vacuum

I Al region
med(1)=2

I Nal detector region ‘
med(3)=1 ')—2323(Nal) T, FHEXEDOREE

ledgfl(3)=1 ! 1:Produce flourscent X-rays

I O:Flourscent X-ray is not
produced

I Quartz region
med(4)=3

doi=1,4
If(i.ne.2) ecut(i)=0.561

end do X ‘ _
e IRLE—ELSDI-HDISA—LBE

| Set parameter estepe and estepe2  cgene BAIRILE—DEF-BEF

estepe=0.10 estepe2. R/INIRILXF—BF - IGEF
estepe2=0.20



=3V BICRETESTTay

ecut,pcut (D000 0D0O0OOOO(MOOOOO)
iphter JO0odoooooooooon
iedgfl K&L-OOXOOOO

lauger K&L-OOODOOOOOo

iraylr Oo000on

Ipolar Joooogoodd

incohr S/7Z rejection

iprofr O0000oon

impacr Joooon




ELE (ranluxELER)

I Random number seeds. Must be defined before call hatch
I or defaults will be used. inseed (1- 2"31)

luxlev =1
inseed=1
write(1,150) inseed
150 FORMAT(/," inseed=",112,5X,
* ' (seed for generating unique sequences of Ranlux)")

Bifof-iscedEBIZ, BEELULG VI BZRET HENAHE
WHHEDBESIZEMN



Step 4: ABTRIFDINTA—F—ERFE

1qin=0 I'Incident charge - photons gz miEsE (EE)
ekein=1.253 I Kinetic energy - . -
xin=0.0 I Incident at origin HFOEBTFILF
yin=0.0 VA

zin=0.0 vl

uin=0.0 I Moving along z axis .
00 J aond ASHFOY—Sas
winzl./ HMRAFOLMEL LHIET S5 E1F0I
irin=1 | Starts in region 2, could be 1

wtin=1.0 l Weight = 1 since no variance reduction used
deltae=0.05 | Energy bin of response

write(6,160)
160 format('Key in source type. 0O:monodirectional, 1:point isotropic')
read(5,*) isot

F—R—FANT. RUVIE—LMFEFRRM DFER



Step 5:  hatch-call

s BEF BEFODEIRILTF—DHKER
emaxeé L TEREL . hatch # call 95

¢ L%‘J_/\If:'lﬁ *&’Eﬁ% nru\-d—%)f_&) 'hs q:%ﬁ
—ARUVE)—2a DEHREHENT D

emaxe = ekein + RM | photon

RRRFOEFOGEE . BELMITRBEEFOIRILEF—IZEFD
RLETRILF—ZMA-EZHRTET S



Step 6:Initialization-for-howfar

e« A—H—O—FTEHEARAITLIHRT—2%%
I 5
— Eir, HE. BKGEIZEATH5T—4
o CGEERALTWWAZNDA—YY—a—FTIL.
fiZARIZ F*E]_d—éT—/)"(i cgANT—42¢EL
Tstep 6LLRTICALIEL TIVAD T, CDstep
Egirgj_é;&‘iféb\




Step 7: Initialization-for-ausgab

TETRHDIEDMAAL. LARVZADIRILF—EUIE
ERTEF
T E L= XM —#(ncases)Z F—R—F DL D A AT
EXTET D
— RBRTE—FDHFEL, /Ny FE(nbatch)HIEETESELIIT(GR
IMEER (. /N yFEIZ, (ncases/nbatch)r — A DEREkE N b
- FFEE—FDZE X, nbatchld, 50

S

o

write(6,*) (' Key in number of cases.')
read(5,*) ncases
if(imode.eq.0) then
write(6,*) (' Key in number of batch (=<50).")
read(5,*) nbatch
else
nbatch =50
end if
ncaspb = ncases / nbatch



Step 8: Shower-call

o B/\YFTncasphNDERR)—%, ERTEL
f=7 N F 8 (nbatch: SEERE 2> [tn) 7= 17 #¢ Y
R g

o REMBHI7AILIZ, INVTFBEZELEKT
3

o« ZFERAN)—E&EIZ, BRIFRMAUFDIEE,

IRIILFT—, (B, AR ZFEERTE




ekin = ekein

wtin = 1.0

wtsum = wtsum + wtin I Keep running sum of weights
etot = ekin + iabs(iqin)*RM I Incident total energy (MeV)
availke = etot + igin*RM I Available K.E. (MeV) in system
totke = totke + availke | Keep running sum of KE

ZNA—H—a—FTld, E—IRILX—DRF(iqin=0ZND T, HEEXr
) —CHIHREL-RILEZFERALTWAA, EXNM)—FIZTRILF—N
BH55E8 (/ML TVWSIGEE. BHO v BRI 5B IZX. &inZ
RETBHTITIN—FUDBRE

egSSTHEATHIRILX—(shower [CE|EZEFTIRILE—) L. I RIL
X— DT, etotZH_ET 5, (BEF-BEFDIEFSIL. EEITRILT—(C
BEFDRIELEEZMAS,



EFBRBREBRLEBESIZIE. COIL—T4U T BROARZRET S
WIZIE(ZDIEDAFRDHA)IZRELI-IGZGED. reectioniBIZLHIRTE

iIf (iIsot.eq.1) then I Sample isotropically.

380 call randomset(rnnow)

zi0=rnnow

call randomset(rnnow)

xi0=2.0*rnnow-1.0

call randomset(rnnow)

yi0=2.0*rnnow-1.0

rrO=dsqrt(xi0*xi0+yi0*yi0+zi0*zi0)

if(rr0.gt.1.0) go to 380

win = zi0/rr0

uin = xi0/rr0

vin =yi0/rr0

end if



I Get source region from cg input data AFHFORBNS . FDIE
o ROU—CavBESERDD

irin=0IC X ELTHIFIX. ZCT

if(irin.le.0.or.irin.gt.nreg) then J—Sa L BEMRBETIND
— F0\a

call srzone(xin,yin,zin,iqgin+2,0,irinn)
call rstnxt(iqin+2,0,irinn)

else
irinn=irin

end if

HELE=FHTERN)—ZRHIRT S



If (depe .gt. 0.DO0) then
le=depe/deltae + 1
if (ie .gt. 50) ie =50
ph(ie)=ph(ie)+wtin
tef=tef + wtin
if(depe .ge. ekein*0.999) pef=pef +wtin
depe = 0.DO

end if

EAN)—BOREHZLET S, CONEBNIBREINE S, BEICIKFT S,

CDA—H—O—FTIX, BRHBOMELELARVRAZHET S EEBHME
LTWWAD T, BIRITRIILF—O0THWNMGER (X, HEEAMN) —TORESS
FORINIRILF—DEIRILF—BFBBEZRO., TCDEEZ+1T 5, RINT
FILXF—DEMIS, EREEZ+IL, RNIRILEF—DASHFOESHT
RILFX—EREGEEINBGEEICIXE—IRBREMFEE+1T S,

COFHETR. IRILF—RINZHHELTHRHESNSELTEREHZFEITH
ATLAED, HAIRILF—LULDAZRITET HRREDLEBRDIZEIZIT,
E—VRESERLECHRGHENDEITLS



Coincidence U anti-coincidence

o & H 558 TcoincidenceXPanti-coincidence® it &
ZITOEED. COFIERIBRICERMN)—IR T &

2. NEE1TS

— Coincidence® 54 1%, coincidence%: LA H 2 DM
HIZIRILF—RRAH--EGEIZOHF EEH D
LUEIRILT—EDEZ+1IEST

— Anti-coincidence 5 & (£, 2, FHEHEBILIS D&

HER ICTRIILEF—IRIRAGEVIGECOH TR
DEZIRILF—EVDEZ+UEOT




A SRR ]

e XZEEUTHILAHEIZEH>TROB=ET AEELZT
THEDIZEFNGZ2DDAELHD
« MCNPTERLTWASAE

— HEIENEO A KIFIZDONTIThh, x L. i-FEBDEXE
)—DFERTHHET D

o1y
X=S2%  x OFHE
=1

N Y — . 4
Sz:ﬁZ(K—X)ZzXZ—(Y)z;(XZ: X D5
4=l

Z |-

gﬁ)
s? zﬁ[ﬁ—xz] X D58k

1
N
1 2
R=Z~[=(C - jastiEmsems
X N X



MORSE-CGTH#ERALTWSAE

e HEIINEDAF HIFIZTDOWLTITHh, x [X.i-FE
DERARN)—DHERTHH ET S
e “N'ERAR)—%Z . FNFN NNERAR)—DnED/\YF
[ZHEIF 5
o BN\UTFEIZFEONT-EZ X,.LT D

x:ijx. x; DFHE
, n 5 X; D5TRY
§ R 2 -
SZ
o - DS

3‘><

T

D B RERE

| |4



do ie=1,50
phpb(ie,nofbat) = ph(ie) /ncaspb

ph(1€)=0.D0 MORSE-CG DA TREZTET S
end do ) f=8Iz. NyFEOTEHEEHET S
pefpb(nofbat)=pef / ncaspb
tefpb(nofbat)=tef /ncaspb ERERFORRITHTIE
pef=0.D0
tef=0.D0
do nd=1,ndet

do ie=1,50

spgpb(nd,ie,nofbat)=spg(nd,ie)/ncaspb !'photon spectrum
spepb(nd,ie,nofbat)=spe(nd,ie)/ncaspb !electron spectrum
spppb(nd,ie,nofbat)=spp(nd,ie)/ncaspb !positron spectrum
spg(nd,ie)=0.D0

spe(nd,ie)=0.D0

spp(nd,ie)=0.D0

end do AE—[ZF& > TSR IME A R BhviE H
end do FZ7A4IVICHAL, TDE, I\YF DT

BT S IEEETAD
call plotxyz(99,0,0,0.D00,0.D0,0.D0,0.D00,0,0.D0)

write(39,410) I Set end of batch for CG View
410 FORMAT('9")



Step 9: Output-of-results

o MRIREHO. HIRFDI/ED S
—EDHREETETHANETRT=0IC
—cgDGEIL. Ik T —3NOEEIRT &

NEZTHELNDT, BEGIFEREZRELTH

NI H

i 77

e N\YFEDIFHML. KO-V 2D FEH

[EELRE(FSD)EETEL.

H 95



E—J@RH3N=E

avpe = 0.D0
desci2 = 0.D0
doj =1, nbatch
avpe = avpe + pefpb(j)/nbatch
desci2 = desci2 + pefpb(j)*pefpb(j)/nbatch
end do
sigpe = sqrt((desci2 - avpe*avpe)/(nbatch-1))
avpe = avpe*100.0
sigpe = sigpe*100.0
write(1,470) avpe,sigpe
470 FORMAT(' Peak efficiency =',G15.5,'+-',G15.5,"' %)



ausgab DI HEE
e ausgab &, A —H—MEF-IMFRFELHR I ST ITIL—F
VTCHDB
e Nat&EHIBIPTORABEIRILT—DIECER

If (med(irl). eq. 1) then
depe = depe + edepwt

L) —2a>v DMEES (med(irl))HY, 1(Nal)DEF,
BREBPOIRILF—FEENE



ausgab DI HEE

o RBRHBAEHIL, BEHBICAFH LB FOIRILIEHRDICER

if (irl .ne. irold .and. iarg .eq. 0) then «~— 7z DIFFHIZ(HELN. Y—2a 0D EH A
if (igl .eq. 0) then | photon R SED SIS A ST
le = e(np)/deltae +1
If(ie .gt. 50) ie = 50
spg(1.ie) = spg(1,ie) + wt(np)
elseif (iql .eq. -1) then | electron
le = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
spe(l,ie) = spe(1,ie) + wt(np)
else | positron
ie = (e(np) - RM)/deltae +1
If(ie .gt. 50) ie = 50
spp(1,ie) = spp(1,ie) + wt(np)
end if
end if
end if



howfar® 1% Z||

howfar [X. egs [TV A AN —IZB8 9 B EHREITAD YT

JL—F>

howfar [, ustep DEHIZ, J—DaViERNHEIMNEI N E

ARD, HAEGEIZIL.

—ustep ZIERFEFTOIREICEETHRZAS

—imew ZRFMNASTUINK) =3 B SITEHTET
)

LT A, I—F—hVBEAE L HT-UNRIEL (I AR S ) (25E

L=(EHULNZIL, idiscard 755 %112 ET S

FRITLIOFAN)—IL—T 1 BIZEGE>F=howfarklib

— cgFFERALTWWAEEIE. CO1A—Y—a—FDhowfaZx{EHT 5




R E Rl

o FEETHIE1 -NatHENDHE
— ROIINZEEBLT.E—IRBREIERVEBRENEZOEILZFTFAREL,
— 1.253MeVIRIRICDWNT, —AR(Z-AR)DAHITHE L TL SRR F
. EAHBRRIZERT S,
— #%iR%E. Cs 137D HE— TR )LF¥—HF(0.662MeV)IZEZ S,
— ﬁéﬁ’& Co-60IZZ z . 1.173MeVE1.333MeV e FERICFERERTR LS
5,
— 1.%53MeV.%$5J§i’C\ BRHBROARBEEBODEIZ2ET 5,
o ETRIED GelHBDEIE
- BHABRZ. GelCEEBL T, RILKESONa &, 1.253MeVIRIRIZH TS
E’_—O&Ué*ﬁﬂj_a*ﬂzﬁtttﬁs‘zﬁ;o
e EHREISEREHMENETHE
— RH&HZT, 20EC. IREDZERIZEZ . 1.253MeVHRIRIZx LT, RIXT
FILF—ZROL RERDRROX v TERE, SIVFERTI
FRIDZERDFEBDREBIZES, SmmDAIDHBEIRET B,
— ZEROWIE(33.97eV/panNZzHALT, ASTHFUEL-YDZDEEHFED
H 73 (Coulomb/source)z3K & &k, BRIR=%. 1.602 x 10°Cle &9 5,
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